=5 4Y/HIE o[0ix|

oYy

THE:

éEI

HM OjF2|:

&2le FEM ol £,

Az 2E A d3

e,

AR BEO| I% LIAE Saf el

L|
L0 T2, ¥H 2E, EZ 27|0|H,
g, ==, 43 HE §)Z Ct¥stH o8

Egl:
LIAI £2|29] B4 W X|E QM E
LOCTITE 9t LA} K0655.243 S

mio

Hz,

=

HolA MEEZ ASE ElM ST ol o2 ST

o
]

0/8:

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
AL aH
AZE| EBHM
=N
L1 . L ., L3
L2
| e ]
T % r==_1 = =T - =
% Q p— —— 1 Q Q
A |
8
SW2 Fi1 H
2
E=ZE Y%
AZgl &= 9 ZBK
FEHS D D1 D2 D3 H L L1 L2 L3 Swi1 SW2 INES EbA
4 BN sz
Mz F1 9. N F2 2. N
K0373.1202004 M12 6 7 M4x8 3,5 11 45 5 1 6 10 5 20
K0373.1202006 M12 6 7 M4x8 6 18,5 7 5 1 6 10 5 20
K0373.1202010 M12 6 7 M4x8 10 26 1 5 1 6 10 5 20
K0373.1206003 M12 6 7 M4x8 3 1 45 5 1 6 10 12 40
K0373.1206005 M12 6 7 M4x8 5 18,5 7 5 1 6 10 12 40
K0373.1206008 M12 6 7 M4x8 8 26 1 5 1 6 10 12 40
K0373.1212503 M12 6 7 M4x8 3 1 45 5 1 6 10 20 100
K0373.1212505 M12 6 7 M4x8 5 18,5 7 5 1 6 10 20 100
K0373.1212508 M12 6 7 M4x8 8 26 1 5 1 6 10 20 100
K0373.1815004 M18x1,5 10 11  M6x12 4 17 6 6 25 9 16 50 150
K0373.1815007 M18x1,5 10 11  M6x12 7 295 115 6 25 9 16 50 150
K0373.1815013 M18x1,5 10 11 Méx12 125 455 16 6 2,5 9 16 50 150
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



